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{0 IR B0 AT 55 K ) B 32058 JEE T o~ 1/ A W RLAH EE UL, 1k
I B0 Sy I ) 52 ) AN RTINS, 0 SCOE IS Y R R B LY E0 R

KELy, Hf
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dw Aw

let AT =L

AT =1/ Aw= L, ‘62k/5a)2‘Aa):>
L, |0°k/ 00| (Aw)® =1, let T, =1/ A=

-I-2 T2V2
L (6.3.15)

\azk/aa)\ oy, /aw\
HA B IEE N, CEXdkido? MARE. LA
12 58 SNk o 52 ek 1 Lo f% Ak B Tk 47 = B B (e 38 5 )
R, e £ € B0 PR S5 0 CL O £, 35 SUR 248K
WE LT ol BB B 2= Lo, 3 €5 AR PR 0 ) J 5

YE 462215 A v 200
N Lot iy hode




2) MK ;%55; ey

W N M AP o4 BB AL, PR 9
W, Senre? R ICLFHIH BB (o AR B 4 4%), T
o Bk i B O B 9 1=IER=P/S, A E R R F ¥, A
I=|Eof12=Po/RS) PGk ) . F AR Lt i/
(Kerm)Xusi, (LA 5o

o W U‘EO‘ _wno+a)77po
C C x 2 C 2CS

(6.3.16)

e

AR 2T BUHIA% 78 B AK= wnPy/2cS,, 1E &L,
NARZENE S R EIMA AL AE L A N =

Ap=AKL =wnPRL/2cS, (6.3.17)
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AARZAE 5] K ﬁ‘ﬁﬁ’ﬁE%Ago:AkL:;éZ_Hﬂ“ , KPR ER
BL=Ly € XOYARERITEREE, B

Ap=AKL =wnPRL/2cS, =1/2 =
L=L, =cS,/onP, (6.3.18)

ARLRAEAC L Ly o S0k AR sk B U L=Ly I, ARERTERL
LXK v A2 B s 248 AN ] 2



3) BEK

&C()Oi%ﬂﬂ‘(\/t

B SIE&RMKESE—EX

R, A Ak=K(w)Kk(w) FIAw=w-w,, HIRTH
(6.2.8)13 2 (HIk(w, P)TE (o, 0) 4 HIZR BH K KR )
‘%% 7’\?? Ve % e T
oK 1 % g
Ak = — AC()+——2 (A(!))2‘|‘77 . Po
om|,_, 2007, 2CS,
= Ak, + Ak, o+ Ak, (6.3.19)

ERATHE R GO R SR (T Ak, TR

E|S54 Eokii
ER=ARI

A HUAT

HEEEUT d2k/dw?<0)

A

KHTEEAR (I Ak, SElKECE e — B

ARG 5] B A AL AR 70 3 N (FE R I



e

2
Agp = AkyL == 2 kz (@)L, let Ag = — 2= ——
20w 2 2AK,
(6.3.20) X : 1
naw
A=Al =5 CS: b A =5 = b ok

445 (6.3.15). (6.3.18)#1(6.3.20) il 41, (HIK B LpYF AE 41k
KELy TR — e LT Rk Ak —
BUEf L, DU DA 0] S B AR 2 A App=—1/21 JIT X o f)

BL=Lost XN BT (K00 <0 5
AN =128 %5 N TR B L=Ly, & XN

FREAE S R AL AR
FIMERE

WA, JEBKIPEICLT AL g — B A LI

, BN

AKL = Ak L + +Aky L=Agp, +Ap, +Agy,




4)

K nw,

FH Ak = P » Ao+ + 205, P = Ak, + Ak, + Ak,
AR AKL = Ak, L + + Ak, L=Ag, + +Apy,
SRR C e AR i — Budh AL, W R s R A AL 32

A

R 22 M 51 L A AL AR AL Apy I 2 App+Apy, =0, T

FPRONEARIE > T B IO ik £ e B 28N 55 AR 28 1 X ik v ) s
A8 RN ARTH A Bk EAR 3 D IR FFFEARANEE . NI IR T
11(6.3.20) FT 2, JERRINT HIZ5 1, P RASS 0 s Rk O (i B

LoS FARZRMER E Ly, :

Lp=Lne (BPAkp=Akyy)
(6320) — AkD:_]./ZLD; AkNL:]'/ZLNL

AR, %LD>>LNLH¢7 |AkD|<<AkN|_, TR AE G A AL 4 — B
FEELES, |Agpl=|AkpL|<<Agn =Aky L, JE 2P RN 5 0 Bk
N, BRI R4 R TR Hlo<<Ly B, [HMAER.

VYA AT V. WA GISI, | 158




5) BRI FRISETIE

N T REFRIN AL é%&ﬁﬂﬂlﬂEﬁ%iﬂ’ﬁﬂ%%ﬂllﬁzﬁ'r@;ﬁﬂﬁﬁ
() R 45 VE P 75 7, X SR Lp=Ly,, FHILATSR IR A
MTFHI B/ ICThER (=2nclw & B 25 T HK)

Ce | —py = _ A% (g3

naw, Ry noyly,  2mnly
AR T IXA TR, BV & 46 N A 2 LAHRTH B8R T8 RN
N5 HRIE NPT IR T Zh 38, yEARN 1~ T 3 N2 (U BT 3F 2%
EERN AT ERETRA, NFHREHETMN). LHRIN
LW AAEREER, 48 E%fﬂiﬁﬁlﬁzhﬂlﬂﬁu
N, SGHAHEEERIELNE, TR,

Bk AN R e R, AR S R SR TR

LNL —




6) MFHY E(r,z,t) =R(r)E,(z,t) exp[-I(a,t —k,Z)]
HRATMH 2
ia—u+%%+|u| u=0 (£ocz,70c(t-2/V,), uccEy)

5 ol Bk e T R (6.2.13)
5 X, T A= j udz (6.3.22)
Eﬁﬁ*/\ﬂixjj

xﬁ?aW(az.le,) A THT Ve IE ] ] s 25 A
u(r,£ =0)=B_,sech(B,r) (6.3.11)
5 L fidt ﬂfg 3\@ J‘;‘g

u(r,&) =B, sech(B,r)exp(iBé/2) (6.3.12)




A

u(z,0)|=|u(r,&)|= B, sech(B,r) (6.3.23)

RN(6.3.22), BINTFHITHER NA(T, 0)=A(z, )=1. KIL-T
TETCTRFER A AL RS, Bk AR PR AR . AT
PHRIE, TedlF5E, &b e X:

u(z,&)| = Asech(z/T,) = B.sech(B.zr) (6.3.24)

FRINTHHEAR NA(L H=1=AT,, BIILT A NIRIE S
ik 55 1) e



6.4 FEEFF INTF AR FBITEZTER

FERFINTFEAZ P, EAGPHEMG LS E I
F B, mALENGINT . ABARINT 18] 49 8] FEAR )
BT AL Rk, 12 2 INF ) 69 1) FE B — 2
P2, JEL MR AEFFARARIN T 8] & A48 B AE
B, $EERBEE, 12805 mik 2 TR, A4
B, BIER %A, F AT OLIN-T 2 8] 6948
AAE R AH], VAR AT R e T R, X AP AR B AR A
AAEF TR0 IRM,



WAES=0M M NI JE A5 5, 7 H TR YA AR-F X 2 B

u(z,0) = &, sechfa,(z — 4, /2)]exp(ip,)
+a,sech[a,(r+4,/2)]exp(ip,) (6.4.1)

AKX T =4

&

1. B 48 5% & Bk ¥ A (01=¢,, 21=2))
2. 548 508 & Bk 2 AN (01#0,, a,=3,)
3. F) 48 R F 18 ) Bk P im AN (01=0,, a;7a,)




1. B 48 % & & Bk 7 72 A (45 Bp,1=p,=0, a;=a,=1)

u(z,0) =sech(r —%) +sech(r+ %) (6.4.2)

MR T7%, BEaMHE BRI, U By kit a i

FOn i . 207 Z BB PaaE EA>>10, I GE N

FRAREE AL, PINT 2 IR B IA] R4 | T 2025

2exp(A—4,) =1+cos[4exp(—4,/2)] (6.4.3)

ERFEWH, P28 18] BFARS e L A% 7% A B EF A A
H A 4dexp(-4,/2)=211%

e,

£ =§exp<Ao/2> (6.4.4)



IRAEAg>>130 L, —WRIAE T, INTIH] bR ARE AL & SH
AAL

~ msinh4, cosh(4,/2) . e—e”
Sy = A, +sinh 4 (6.4.5) (sinh x = )

M INT R PR ABE A B SR IAPE AR AL, SR - TA) A7 7E A
STERIVER 0o 2T RIBEAR NI, AR 2 TR R 5 7T,
S EAT BAEdR, HEM O & IFE &, R/ XMHE
bz s, &P R XA ER S, BERE UL
lpdE, AR . JeehlfE T, A EMLINT KA
STE R SR, — Py v 1 NS AN AT A R 44
[AJ[E] A, AR AN [RIAH ELAT Y AT DL,




H T I B AR B N S=nl2, SMUEAS>>TIEL T, H

(6.4.4)F &,/&=exp(dy/2), HEICE A Y =4 18] A7 B AR 1 Sl Bl S

Ry e A7 Bz, SRR B[] b AR A 3z 5 IR AR

/f/kx)gl/ﬂ\:ﬂZO‘]ﬁﬁ/@é%/%zp/Z():fp/éO:eXp(AO/Z); EI—J%‘
2,=20eXP(do/2)

i, HiA4,=20, z,=10km, Jz,=220000km, XX} K 2% i

BARG W ER (RISl d A kG N5, BEAHCD

ZEER ),

E: A=08f, (6.4.2) S AN=2) =M INTFHIa6 5644, R

AR R, A B AR R BIE 55 T B AL JH #A S,

u(z,0) =sech(r — 4,/2) +sech(z + 4,/2) —2=—
u(z,0) =2sech(z), &, =(m/2)exp(4,/2) =n/2=¢,




2. 748 518 5 Bk F = AN (01=0,, 0,=0, a;=a,=1)

u(z,0) =sec h(r—é) exp(ig,) +sec h(r+ﬁ) (6.4.6)

SRR P I~ 2 T 1 1) i A 4k e e S AR A 1) J 191 O

B nsinh4, cosh(4,/2)
" (4, cos @, +sinh 4,) cos(¢, /2)

K, P 1A RS B AR A0 E RS B 1 B AT 46 18] A, 35 K
i3 oK, b B W) AR AH A ZE g 1E O~ 2 (8] 38 o T 3
(cos(pe/2)=1—0), MM 5 Fl48 %43 69 15 B 148 bk, iX 2 49
HAC, BA 38

4.7)



3. F) 48 2 18 & Bk 77 2 N\ (01=0,=0, a;=ay, a,=1)
u(z,0) =a,sechla,(r —%)] +Sec h(r+%) (6.4.8)

Hag=1 N TEE L Zag>1h), PRI R B 8922840 A 8 IR
SERTAR TR BEA G KR, BT — Mg, B

Ant
ffp:ag_l
@}@ A D‘°7'% 2o kO — |
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NEUEE

(6.4.9)




